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' 1. Find the missing number. l
‘ - 2=3
()7-2=35 (b) 6 - 6 (c)
(d) $=9 (e) 10 -9 (H 11 = ]
B! =0 (h) _-0=13 (i) — | =8

2 Solve the following. You may fill any numbers to make the rl:sulll.

(s )-(3)=s [(3)-(Z]-5 [2]-['6J-%
®(s)-(2 )= [ J-CJ-» (J-(_J=
ol J-[ )+ [)-[)s [ J-[ )=
@ )- J=10 [ _J-(J=w [ _J-{ _J=1
@O - )n [ J-C)-» [ J-[ J=n
3. What will you do—add or subtract? Write the correct symbol in the box.
@6~ ]3=9 ®7( ]2=9 (9 |3=6 @8 |4=12
@7 4=3 @OU[ |7=18(@20[ J1=19(M)16] |2=18

4. Choose the right operation to solve and write A if you add and write S if
you subtract.
(a) There were 12 passengers in a bus, 3 passengers got down.
How many passengers are left in the bus?
(b) 9 men were sitting in a boat. 2 more men joined them.
How many men are now sitting in the boat?

(c) 16 birds sat on a tree. 4 more joined them. How many SO
birds are there now on the tree?

(d) 28 laddus were kept in a box. Rohan ate 7 laddus.
How many laddus were lefl in the box?

(¢) Mona gave 11 bananas to a monkey. Ria gave 5 bananas
to the monkey. How many bananas did the monkey get?
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